SHREE F 1P ERERESHINEZHREEERBELEV ) (4 FITTES A ~SFtaEsH)
<R ADE > (E{L M)
I8 = HOxE % R A EE IR A X F & s =

1 ZREBE 56,192,298 54,907,330 1,284,968
1 PERGBRE 54,663,250 54,168,850 494,400
2 PEFGHRBE 703,000 703,000 0
3 BFEERFE 826,048 35,480 790,568
4 A RIEEE — — —
5 TN 0 0 0
2 ABSE 5,040 5,040 0
1 PTAZFHEBRE 5,040 5,040 0|2[E1=EE- 184S0
3 &HE 2,254,158 2,254,158 0
1 FIFHAigHE — — —
2 HIEEZEE 2,254,158 2,254,158 O|FTEERZHE LY
4 HILA 50,558 50,558 0
1 FEHEE 50,558 50,558 O|B&3 45,375, Bxh—)L 5,183H
2 i — — —
(=] &t 58,502,054 57,217,086 1,284,968
<ZH®DE >
15 B X H R E X H # * ¥ £ i =
1 HBMHE 50,997,438 50,997,438 0
1 8% 8,364,249 8,364,249 Ok -FEREE
2 BIBE 42,633,189 42,633,189 O|F3RKEFH
(= it 50,997,438 50,997,438 0
- IR A & % 57,217,086 H
- X B & 50,997,438 H

- = 5| &

lj

6,219,648 A THTEEFE2FHARF Rl




